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1. White short notes on the following :

ferfrae w aftm feoafrl fftag -

(@) Government of India Act, 1853
/ T GLHR AT, 1858
(b) Birsa Munda Movement
S e e
(c) Indigo Revolt
/ e /e fade

(d) Patna Kalam Painting

(i Develepment of Caves in Eastern India in Ancient Time
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2. (a) Discuss the factors for the emergence of Indian Nahonal Movement. How it

gave direction to the freedom struggle?

38
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nyscuss the growth of colonial technical education in Bihar under various
s

chemes of British rule. Critically analyse its impact.

38
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3 (a)  Analyse the development of temples in North India in ancient time., 38
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(b}~ Describe Rabmdranath Tagore's ideas of society apq culture, 38
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4, Write short notes on the following -

Frrferfen e wfirw fearforr ferfgn |

Where was the 18th Nationa] Scouts and Guides Jamboree organized? g
Describe its objectives. .
1%WW®WWWW_$§MWW e Iedl 1

U Hifvry

[‘W Explain the mandate of United Nations Public Administration Network in
managing the peace and strong institutions under Sustainable Development

Goal-16. 8
Vg WY W S Yo % Wi @ ggg wensi B wwe % v e
-16 % YRR 1 33w Hifv)
<Lﬁ)Di::uss the right-based e-service delivery scenario of Bihar. 8

M%M—mé—wmwwmml
((di/ Describe the efforts made in the field of solar power generation in the State
of Bihar. 3 1 : G

)""‘Cﬂﬁéélly' examine the features of self-teliance Bihar Saat Nischay-2
: (2020-2025) programme:of-good-governance. . 7

TR fER % T fArmae (2020-2025) gamrew s A frdiwarsii =51
AT W Sk

5. (a) What are the draft regulations announced recently by the University Grants
Commission to open the door for foreign universities to set up campuses in
India? What prospects do you visualize about their impact on higher education

in India? Do you think it will be a game-changer? Give arguments in support
of your answer, : 38
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Or | 3re@t :
/(M/ In the wake of i Criticism by the Vice-President of India recently, critically
. / N -examine the doch‘ine'Of baSiC structure given by the Supreme Court of India
' half a century ago, Do you think this debate will prove to be a point of clash
between the €xecutiye and the judiciary in near future? Give arguments, 38
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6,Ta) Do you think Indid must reclaim thevleadership of .the developing world

(b)

through its ambition to steer th'e G-20 Summit in Delhi to success later this
year, despite India’s OWN enduring developmental challenges? Do you think
India faces the real difflculty. of uniting the Global South in pursuit of common
goals? Write your answer with Convincing arguments.
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Evaluate the role of United Nations in access and resource management
about support of Syria and Turkey earthquake disaster.

Hifen = gehi s anvq e § g g9 A e w6 e v i @
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Study the following table carefully and answer the questions given below
this table :
Highest and Average.marks obtained by students in five subjects
during 2012-2017. The maximum marks in each subject are 100.

38

38

Year ) Subject

English Hindi Mathematics ‘Science History

(H) a) (H) (A) (H) (A) (H) (A) (H)

Highest|Average Higheft Average|Highest Average|Highest|Average|Highest |Average

(A)

2012 85 | 65 80 60 | 75 60 76 50 80 50
2013 | 80 60 |75 63-.|. 75 55 55 35 85 70
2014 | 83 62 | 80-.. 60 75 | 50 50 30 82 60
2015 | 70 55 75 S0 85 65 85 55 | 80 60
2016 | 72 | so 70 | 50 | g0 55 90 60 90 65

2017 75 | 60 | 80 | 60 || 85 | 79 70 | 40 | 70

55




(a)

(b)

(c)

(d)

(e)

(f-
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Prferfiae WioR 1 ARG St B o gl $ A9 T F I3
AT :

wta forwall # ol gr1 2012 & 2017 % G $iw SwH T 3itEd I

weeh for 3 waifies s 100 8l
il : fawa
S | oftwd | swaw | oftem | swaw | ofga | swew | oftma | S=aw | offwd

(H) (A) (H) (A) H | @) (H) (A) (H) (A)
2012 | 85 65 80 60 75 60 76 50 80 50
2013 | 80 60 75 63 75 55 55 3s 85 70
2014 83 62 80 60 75 |. 50 50 30 82 60
2015 | 70 55 75 50 85 65 85 55 80 60
2016 | 72 | so | 70 | 50 | 8 | S5 | 90 | 60| 90 | 65
2017 | 75 60 80 60 85 70 70 40 70 55

What is the combined average marks of all the five subjects in 2015?
f\ fawat 1 20150 vy 3t 3w =91 R?

What is the percentage increase in average marks of English from
2015 to 20177

2015%2017ﬁaiﬁvﬁ%aﬂuaaiﬁﬁmﬁmaﬁg&%?

During which year the difference between the highest marks and highest
average marks in Maths was maximum?

mﬁﬁﬂﬁmﬁmwmmaﬂaﬁmwmaﬁww?

What is the percentage of highest marks.in Hindi in 2013 with respect t
average marks of Maths in 2016? in Hin D i

2013ﬁf‘z—-q‘h‘w3aawmwuﬁm 2016ﬁnﬁma:sﬁwmwﬁﬁw
wftrd 27

If 50 students took th naticy o TRASE . ;
e SO g ¢ @Xamination i 3013 in Maths, what were their

uﬁZOlBﬁSOﬁmﬁfﬁﬁnﬁmﬁqﬁma ) 975 31 1 F1 AN R an?

In between which two ye ; ) .
maximum? vears, the difference of highest marks in Science was

ﬁﬁaaﬁ%?ﬁaﬁmqﬁmmm e
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Study the following graph carefully and answer the questions given below :

Profit percent of companies ABC and DEF during the year 2001-2006

(P,rofit percent = Income - Expenditure 21 OO)

Expenditure

ABC
- — -A- - - DEF

0 . &

2001 2002 2003 2004 2005 2006
Years

ﬁmm#rwm@awﬁﬁqaﬂxﬁ%%qmaﬁ%maﬁq:
a9 2001-2006 ) 3/aft F A HutEl ABC 3R DEF gra aifta wfeerd &

e o = S92 100
.‘ m

o %
ul
o
]
1

ABC
S - - -- - - DEF

2001 2002 2003 2004 2005 2006
e :

(a) . Let the income in 2005 of c't?mpanies ABC and DEF was in the ratio 3 : 4.
What was the ratio of expenditures of companies ABC and DEF in 2005? 8

mrn 3 2005 8 @ i ABC 3 DEF 61 s1mr swar: 3:4 % agam ¥ ot
2005 7 7% (@ ABC 3 DEF %) s w1 weiferd arema =y o7

(b)._If expénditure of company DEF in 2002 was € 190 r,, what was its income
in the year 2002? ' 5

3w 2002 # W DEF 1S € 190 Hg o, el amr 2002  qa o7
(c) If expenditures of company ABC and DEF were

income of both the companies in 2001 was &
total profit of both the companies in 20017

mQOO]ﬁMABCaﬁIDEF%mmaaﬂTZOMﬁ i
v * . £ ﬁ
3T ¥ 825 g o, 2001 F A Ful w5y - wj'jf St

equal in 2001 and total
825 cr., then what was the
10
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(d)

Income of company ABC in 2004 was ¥ 750 cr, What was the expenditure *

in 2004? 5
w4 2004 # S ABC ) a1 ¥ 750 Ty of)| ggeT @9 a9 2004 1 o077
(e) If income of both the compames was equal in 2003, find the ratio of
expenditures of company ABC and DEF ; in 2003. 8
a2 2003 H 1 il ) s e o, & 03 4 F ABC % = 1
DEF & =1 § 39T F1 o7
The Bar Graph given below shows the sales of books (in thousand numbers)
from six branches of a publishing company during two consecutive years 2000
and 2001. -
Sales of Books (in thousand numbers) from Six Branches—B1, B2, B3, B4, B5
and B6 of a publlshmg company in 2000 and 2001 are followmg
120
110~ 05——~ e M0 L2 g,
gl f - 95} 05 %
£ 90— Hoogsi <+ R
e il JH gl
T g fles AN T pEl ok
5 eo— -7 e :
£ 50— i
S 40— 7k i i : . i
£ so A= e e S T
- Sad A ZHL A TR T
el B BRI E R
Moo 70 0 BISE SR« TB3 B4 B5 B6
Branches 72 2000 E32001
'ﬁﬁmwwmmaaﬁzoooaﬂz 2001 % RM T JHEH ot )
BE WIS W G R (R we ) gvha 21
2000 37T 2001 ﬁ@wmﬁmwaﬁ_m B2, B3, B4, B5 3iR B6
B T B ﬁaﬁ | (& H@r ﬁ) ﬁ:q%{ﬁga g
110—-" s —— -.;,lm_l_a B
- 8541 e
15 || 703
2 i i H
e : B3 B4 B5 B6
(a) ‘What is the ratio of th i 14 2000 32001
“total sales of Branch B4 fzr gtatlhs ales of Branch B2 for both years to the
a:ﬁaﬁ F o ey B2 ﬁ Vears? « -
3 sy %ﬁﬁmﬁaﬁ%mm B4ﬁ§aﬁvﬁ
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(b) Total sales of Branch B6 for both the Years are what
O B3 S hoth e yesrs? at percent of the total sales

8
2t a3 R s B6 P TR, 2 et 3 fora e B3 1 e sk
T wferera 27

(c) What percent of the average sales of branches B1, B2 and B3 in 2001 is the
~ average sales of branches B1, B3 and B6 in 2000? | :

2001 & wraatt B1, B2 3 B3 6 aftaq Rl w5t Rean whira 2000 F wm@is
B1, B3 aik B6 &1 aiwafenhl 27

(d) What are the average sales of all the branches (in thousand numbers) for the
year 20007 8

€ 2000 % Rre wt srEsi 1 sitga fsh (g den ) e 8

(e) A total sale of branches B1, B3 and B5 together for both the years (in thousand
numbers) is what? 6

A1 sl % e s B1, B3 3 BS &1 $et foshl (7T s H) fererft 27
4 - TOr [ YAt
The following pie-chart shows the ‘percentage distribution of the total

“expenditure - incurred by .a company in different expense sections
during 2015. Study the pie-chart and answer the questions given below :

Percentage distribution of total expenditure of a company

Infr
Tra

Infrastructure

Transport

Adv = Advertisement

Tax = Taxes

R&D = Research and
Development

Sal = Salary

Int. = Interest on Loans

03/FH/CC/M-2023-02/2 (7) ' (Turn Over)



A e ™ gu-aw, 2015 % gy Jfd 3 A€ FH P =
W?ﬁwﬁmaﬁmélqwmwﬁxmmmaﬂtﬁQWW%W

Infr =§ﬁm‘q‘1€ﬁ
Tra = UREEd

Adv = fasmm

Tax = X

R&D = WY 3R fyem
Sal ={wm "
Int = U WS

(a) How much times the total expenditure of the company is of expenditure of
research and development? :
. m%mzﬁgﬂnﬁr’ MY SR forsra W o A frah T 27
g ‘ R 4 g s T A B N 2

(b) If expenditure on transport is € 2f'érores, then what will be the difference
between the expenditures on salary and aduertisement?

e wieE o € 2908 R, 6 Wi iy fgrd W @ & i R S 27
(c)

(d) It expenditure on interest g, : s t will be the total
expenditure on advertis loan is & .60 crores, then wha

A ement, taxes ang salary? s
1 ¥ 260 #z S W =Y Hl

|

(e)v How much times d :
expenditure on adys. ﬁs;fference of expengityre on interest on loans and the

: : 6
RN W gy ment is of the expenditure on advertisement:
T 27 b o 3 i oy o T 3 o7 o fob

* ok o
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